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Find (f + g)(x), (f - 8)(x), (f - g)(x), and (f/g )(x) for each f(x) and g(x). Indicate any restrictions in domain or range.

f(x) =x+2 g(x) =3x-1

f(x)=x2-5 gx)=-x+8
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pair of functions, find f o g and g o f, if they exist. State the domain and range for each composed function.

f=12,5), (6, 10), (12,9), (7, 6)} g =109, 11), (6, 15), (10, 13), (5, 8)}

J=1(-3,4), (14, 8), (12, 1), (0, -3)} g=1(2,-4), (-3,2), (-1, 9, (5, -6);

S o WD UKD guedlg Jlonsd) 30 L3283 00 <OlS 1) [B 0 f(X) o [f 0 gl(X) ded uo

Find [f o g](x) and [g o fl(x), if they exist. State the domain and range for each composed function.
flx) =-3x
gx)=5x-6

fix)y=x+4
g(x) =x*+3x-10
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A= {(1, 5), (2, 6), (3, 7} B=1{(51, (6, 2), (7, 3}
Find the inverse of each relation. @ loo dSble JS yuoSao >

(-9, 10), (1, -3), (8, -3);

1(-2,9), (4,-1),(-7,9), (7, 0)j
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Find the inverse of each function. Then graph the function and its inverse.

g(x) =4x -6 h(x) =x-3

' Y/]

r 3
=y

¥ 3

I 4




S T s [ gl e SUSAAIE]  https:/t.me/mathbooklIGEN E!@IE https/fime/alliaaamE?

050-2509447 ; -Q pledl plie (oalall gad ~ 503l g Cilazaly y Cililaial g a3k 5LE
O s & =] 2 —
— =] %5 =]
BB 3ol o5 S| Giaslaio Gaills Ge sy Jloall o z05 JS S 13] Lo 33>
EESE:
Determine whether each pair of functions are inverse functions. Write yes or no.
Jo) =x -7 g(x) =x+7
1 3 4
flx) = X + 1 glx) = 2x — 3
(=] % [=]
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Identify the domain and range of each function. Alls JsJ saally Jeadl 33>

fix) =Vx—=5 fix) =Vx+8 —2

fix) =Vx+2+5 flx) =—Vx—6+5
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ripRBach function. State the domain and range. «Sxally Jleall 483l Ely dls Js Jio
1

=Vx -2 ) = —3x—5+5
y

flx) =2Vx—=5—6 ﬂx)=%\/x+12+3
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fix) < —2Vx + 3
y ;

y<6 —3vyx— 4 y<vVé4x —12 + 8
Yy
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Use a calculator to approximate each value to three decimal places.
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Write each expression in radical form, or write each radical in exponential form.
1 3

104 x5 V15 \/ 7x%1/°

Evaluate each expression. b lao i JS dasd s>
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Solve each equation. Confirm by using a graphing calculator.

1 1
Vx—4+6=10 2+4z2=0 (4y)2 +3=5
Vx—2=3 V2t =7 =\t +2

(=] =]
O
E' 4 ) 15




adle Al | dhaa [ (e jaal) Joo ] https://t.me/mathbooklIGEN O AC] https://t.me/alllaaam82

TR e mesusess 55 Soseses
. Cfas & Bl

—[Elsgh =l

B W oot culalaed) Jo- "_‘,.aL.w:xl o ogiod)

O

et i a5 A il 1 a2 iy 255 05

e i - ]
L o il il e o1 EERY

Solve each inequality. AU Slsliall e JS J>

V3x+4-5<4 6—1/2y+1<3
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